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expensive, you know, to put in relative to what you have in 1 

a congested urban area.  And so the, so I what I am saying 2 

is that, you know, if you were really trying to get this 3 

right, where you just -- wouldn't you want to just want to 4 

get it where the,  you know, just identify those areas in 5 

which you have got to really lay it under the streets. 6 

 MR. FENRICK:  That's -- what we have done is the ideal 7 

approach, in that our engineers have examined when costs 8 

are expected to drastically increase when serving the 9 

congested urban area.  And so doing that engineering 10 

analysis, that point, you know, how we have constructed 11 

that variable is the ideal approach, in my opinion. 12 

 MR. HOVDE:  Now, the value that you had for this 13 

variable for Toronto Hydro was 1.88 percent, which was the 14 

second highest among all sampled companies.  I think you 15 

presented that in a table. 16 

 And then you have got another company like 17 

Commonwealth Edison, which serves Chicago, which serves the 18 

largest congested area in the sample, had a much lower 19 

ratio, at only .05 percent, and I'm just wondering, was 20 

there a particular reason why you choose to measure -- to 21 

specify this variable against the ratio of a congested area 22 

to total area? 23 

 MR. FENRICK:  The ratio or the percentage expresses 24 

the percent of territory that the utility needs to service, 25 

you know, at this higher cost level.  To the extent that a 26 

utility is serving a higher concentration, you would expect 27 

those costs to be higher, you know, relative to a utility 28 
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that, you know, for instance, Commonwealth Edison, that 1 

serves -- yes, it serves Chicago, but then it also serves a 2 

huge swath of northern Illinois, and that's a much lower 3 

cost service territory. 4 

 MR. HOVDE:  Well, the reason why I mention that is 5 

because just from a mechanical standpoint that if you 6 

really believed that, you know, the ratio was the most 7 

important thing, then, you know, then what Toronto Hydro 8 

hypothetically should do to really get their costs down 9 

would be to buy a bunch of farms someplace, you know, just 10 

buy a bunch of empty land, and then they can lower that 11 

value, and then it wouldn't cost them as much, according to 12 

their model, and just, to me that seemed like a little bit 13 

counterintuitive that the percentage of area is what really 14 

mattered, and what we were thinking is did you try anything 15 

where -- you know, were you just trying to look at the -- I 16 

don't know, just, you know, don't even take the ratio, just 17 

put in the -- you know, just put an enumerator, as in just 18 

the -- you know, how many kilometres congested do you 19 

serve, as opposed to the ratio, or alternatively, how many 20 

uncongested -- you know, how many uncongested square 21 

kilometres do you serve, and then just expect a sign out of 22 

the model.  Did you try either of those? 23 

 MR. FENRICK:  No, we did not.  I would say in your 24 

hypothetical there's not farm land that Toronto Hydro can 25 

expand to essentially because it's surrounded by, you know, 26 

suburban -- you know, the city itself is surrounded by 27 

suburban area and the service territory is set not 28 
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necessarily by Toronto Hydro but, you know, it's 1 

essentially given to the managers.  And so, you know, they 2 

can't go and buy farm land, they have to contain costs and 3 

have their cost levels based on what the service territory 4 

actually is. 5 

 And given that Commonwealth Edison, you know, in 6 

Chicago has a bunch of service territory that is much lower 7 

cost than Toronto Hydro's service territory, you know, 8 

there's a lot of customers in that service territory.  It's 9 

not just farm land, it's suburban, which is the least 10 

costly to serve. 11 

 And so if you just did the land area you would say 12 

Commonwealth Edison's service territory is the same as 13 

Toronto Hydro, and that's not the case.  Commonwealth 14 

Edison has a lot easier service territory conditions, you 15 

know, relative to the congested urban variable than Toronto 16 

Hydro.  And so that would be a disservice to utilities like 17 

Toronto Hydro, which is an outlier in its urban 18 

characteristics.  It serves a highly urban area, and that's 19 

essentially what it has.  It doesn't have a whole bunch of 20 

farm land and suburban areas.  It serves a highly 21 

concentrated congested urban service territory, and that 22 

factor or variable needs to be adjusted for, and 23 

consolidated, as does Edison, and New York City is the same 24 

situation.  It doesn't have the low-cost areas it serves, 25 

it has a much higher proportion of the high-cost areas, and 26 

that's going to drive up costs to the utility. 27 

 MR. HOVDE:  Just one other question about the -- about 28 
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PEG TC Results (2012 Capital Level) pdated PEG results from 
their Interrogatory Answers. PEG corrected their results from the initial PEG Report in their 
response found in M1-TH-026 (f).1  

Table 1  PSE Total Cost Results vs. PEG Total Cost Results 

Year 
PSE TC 
Results 

PSE Average 
Results Prior 3 

Years 

PEG TC Results 
(2012 Capital Level) 

PEG Average 
Results Prior 3 Years 

2015 -18.4%  -7.6%  
2016 -15.7%  -3.1%  
2017 -13.8%  -0.2%  
2018 -10.5% -16.0% (SF=0.15%) 3.5% -3.6% (SF=0.30%) 
2019 -9.3% -13.3% (SF=0.15%) 4.8% 0.1% (SF=0.30%) 
2020 -7.2% -11.2% (SF=0.15%) 7.5% 2.7% (SF=0.30%) 
2021 -5.5% -9.0% (SF=0.30%) 9.4% 5.3% (SF=0.30%) 
2022 -3.3% -7.3% (SF=0.30%) 11.8% 7.2% (SF=0.30%) 
2023 -1.6% -5.3% (SF=0.30%) 13.8% 9.6% (SF=0.30%) 
2024 -0.1% -3.5% (SF=0.30%) 15.4% 11.7% (SF=0.45%) 

CIR Avg. -3.5%  +11.6%  
 
In Table 1 we included the average of the prior 
three years  We also included the applicable stretch factor 
(SF) based on the 4th Generation SF cohorts.2  
 
As can be seen in the ta 0% SF for the majority of the Custom IR 
period and for the 2020 to 2024 average 0% SF for the 
majority of the Custom IR period.  If the full custom IR forecasted period is averaged, PE
recommended stretch factor becomes 0.45%.   
 
This convergence in results toward a 0.30% stretch factor is primarily due to the advancement of 
the congested urban variable. PSE and PEG each use the new variable in their models.  The 
congested urban challenges of Toronto Hydro are now being recognized in both models, and the 
total cost benchmarking results of both consultants reflect this advancement.   
 

                                                 
1 -TH-026 (e) and (f), PEG calculated total costs using 2008 and 
2012, respectively, as the capital levelization year. In Table 1 we show the results using the newer 2012 capital 
levelization found in part (f) of the interrogatory response.  In Section 3.1.1 we discuss why using the more recent 
capital levelization provides the most accurate depiction and partially mitigates the impact of PEG using inconsistent 
asset price escalators between Toronto Hydro and the rest of the sample.  We note that in the PEG Revised Report, 
PEG used the older and less accurate 2008 capital levelization year. 

2 The 4th Generation SF cohorts are based on the 3-year historical total cost benchmarking scores.  Average scores  
greater than 25%, between 10% to 25%, between 10% to -10%, between -10% to -25%, and  less than -25% suggest 
a SF of 0.60%, 0.45%, 0.30%, 0.15%, and 0.00%, respectively. 
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